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Gifted children of almost any age show longer attention spans — in the things they are

interested in at the moment, not necessarily in what others think they should be interested in.

(A) One 10-year-old boy, who had read the second Harry Potter book four times, proudly
announced that he could name all of the numerous courses that Harry and his friends
studied at their school. In another example, a highly gifted three-year-old boy watched a

basketball star make 20 baskets in a row on television.

(B) Many gifted children spend hours reading, building models, or drawing — “forgetting”

their household duties and not even hearing you call their name. Their concentration is

intense, focused, and all-consuming; they will also notice details that others miss.

(C) This boy became resolved to do the same thing, and he stayed with the task for nearly three
hours until he finally did it. Even using a child-size hoop, this was quite an accomplishment
for someone so young. His determination to stick with it that long was quite remarkable.
Persistence is a long-lasting trait of gifted children and adults.

“all-consuming OIS 2& #{%= hoop (572 &

® (A) - (©) - (B) @ (B) - (A) = (O) ® (B) - (C) — (A)
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Parents sometimes try to (U justify a child’s bad behavior with the rationale, “Robert was
running around with the wrong crowd.” The implication is that Robert’s behavior was influenced
by or caused by the other members of the crowd. This may sound good, and it may be a
correct assessment as far as it goes. But it @ leaves out the fact that Robert was also a willing,
participating and contributing member of this crowd, and that he probably influenced the others
to about the same degree that they influenced him. Granted, crowds (e.g., gangs) sometimes
do things @ collectively that the individual members may not do by themselves. But blaming
the crowd for bad choices and irresponsible behavior 4 gets the point entirely: First, friends,
associates, crowds/groups are choices, and second, individuals influence and are influenced by

those who make up the group. This is one very good reason why friends and close associates

should be chosen ® carefully, not simply encountered and accepted. Over a period of time, it
matters.

“rationale 01
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The principle of distinctiveness suggests that we make attributions about people based on
whether their particular characteristics and actions are associated with specific outcomes unique

to the situation. Distinctiveness is the extent to which

For example, if a student, who has a habit of submitting his assignments late, seems well
liked by peers and professors but is clearly treated harshly by one of the professors, then the
student seems to cause a distinctive reaction from this professor. If the professor in question
is consistently harsh with many other students, then the behavior is not distinctive to the late-
assignment student; rather it is low in distinctiveness, and you will tend to consider the professor
a harsh person. If, instead, you see this professor being friendly with all students except the

student with the late assignments, then the student seems to be unique or distinctive in eliciting

this response from the professor. In this case, the professor’s behavior is high in distinctiveness
and you are more likely to attribute the cause to the late student having done something to upset
this professor.

“attribution (ALElME[SIOM) PRIERR), BSel Bl H7| Telicit (BFSS) S0{UCH

D people understand what others try to explain

(@ we are accurate in our thoughts, words, and deeds

(® many aspects of our lives are influenced by other’s power
@ things occur only with each other and not with other things

(® people are participating and how well they are participating
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Curiously, for all the value we ascribe to our ability (D to speak, language could have a dulling
effect on the rest of our perceptions. Humans have developed and refined a communication
system that can convey extremely specific information. It’s possible that as a result we have
become less @ reliant on our other senses for gleaning information from our surroundings. If I
can verbalize my anxiety, 3 what need have you to focus on my body language, smells, or other
physical or psychological signs that might accompany these feelings? If I tell you @ that I've
just placed some fresh strawberries on the kitchen table, why should you have to detect their
presence by sense of smell? In the absence of spoken language, other animals have to rely on
their senses to detect sensory cues or the emotional states of others. It’s one key reason (5 which

we may be less perceptive than many other animals.

“ascribe ~ to ... ~0| -Off UCET 7|t “glean Aa SEISHCH

+ MEMO -

008



®
EST] ©1o{= OIt 91710| 2 22to] o3
OLBHAIE, a7t 28 4 U= S240] TR 0f7|= BE JHXIS thste, Slof= 2|0 LnjX| 2242 5 sh=tf Fere 0lZ 4
UL, QRHS CHERS] THAQI HBE FYE 4 YU ONAS HAS LHAZ|D HA 2t T 2t P2l Selo] Fol2RH F
22 ZFM DO 22 T2 220l 2 XIS SIS 4 AUC SHF L7t U] HOMIS 22 ik 4 QUctel, olaf2e of 24
SS 4818 A QU U] S5 210], WA i T2 AAA 22 MaiX A30) EEH0F P TR AT B0t of2i=ol)
T O AN IS AH0) EUCHD 51, OIS $210=7 IS0 EAYE of 2KIsH0F it LI UsH= 2107} 87| T,
2 S2S2 22 MSL 40| 2 NEIE 2RIGH | 915104 THAle] 24210 OIEsHOf ik 122 227t T2 B2 SBECt K20l
ojBIE Xl 22t st KK s olRoltt
® 2401 012 Afreason)7} LIRITHD 81 BHEA] whyZk HEF OFLICE which7} LiRte 0] Sixist 20| LioH 2exoz 8
BIZCH SHRIDH (0t be SAHERAD 22 MR0| #EISI0] MHODE SHXIEH 2&0|1, 0l whyS ALt for which® LA}

D (FAL + toV) “toVate BAFE 2Hxoz 5| 2| 2 210] 100 oS HAL] BRAK Yoz ML £3] ability + toVie
xiz MoIct

gjo
=
i
ook
0o
=
i
=
(@]
2&
[
<
oo
0o
>
i
-
O
~
40
o
Rl
o

2
2
4T
Rl
]
s
i

@ become Ct RUCE lesse= "2/ O HA"2ts S0 BARR
reliants i 2 20|22 (become + FA + FEA) = BHAHCE Sot2rt,

@ what0ll ZE0] MM O™ ULt that0| OF7} oMslitof sk 20| SX|2 220] 20| 2H SSH(?)7H ULt 0ltf= whatOl2f
= Q2APt AEOR R S0i|IM AT R0 (00l =-S WEOF ST Q2R 42| need= (RSAD S 5HH, what + &5
AMneed) + SAFEZ(have) + F0(you) HEC 2 Ligh| R0 2HAHCZ ZSHIZC, 20l LI2E= to= ®2H have to= MOl

[m]

A2UH| ZSAF THS0le SAFEYR X 47| TZ0] haveRt 211 L= Z0|Ck

i=)
~
10
ol

—r
<
IS)
c

I

=

@ (tell + =X0f + that S + V)& M01 7120|11 0| that2 FAFHO0|SZ XI5 2H0| LRIk BiCE (place + =X{0{ + on + F
A 2% &0| tEgl0] 2ot 22 0|21 V| IE0| YAz SHiEH ALt

013

ascribe ~ to ... ~2 _El{E]ez =2|ct accompany ~2} SEISICHSAGICH

dull =aHXI|Ck in the absence of ~0| g2 ol

refine ZH43CH=improve) rely on ~0fl 2|&EsiCt

convey MESICH=communicate) detect ZX[5ICH=perceive): &7A5ICH=discover)

extremely CHES|; D1 sensory &29]

reliant 2|X|5hk=(=dependent) cue AlS(=signal); TtM(=hint)

glean == ~E6iCH perceptive X[2{0| 0215t

verbalize &= LIEFLACE

009

https://www.instagram.com/zeus_english



JUST TRUST AND FOLLOW ME!
P R @ zeuseDU
ZFOZI = S0l O] E 22| =AME 7+ MAEst A=27? 2E %of Sain

2-12

Values provide ideals or beliefs about behavior but do not state explicitly how we should

behave.

(A) Laws that prohibit us from driving over the speed limit and “good manners” that
preclude you from talking on your cell phone during class are examples. Prescriptive
and proscriptive norms operate at all levels of society, from our everyday actions to the

formulation of laws.

(B) For example, persons making a certain amount of money are expected to file a tax return

and pay any taxes they owe. Norms based on custom direct us to open a door for a person
carrying a heavy load. By contrast, proscriptive norms state what behavior is inappropriate

or unacceptable.

(C) Norms, on the other hand, do have specific behavioral expectations. Norms are established
rules of behavior or standards of conduct. Prescriptive norms state what behavior is

appropriate or acceptable.

® (A) - (©) - (B) @ (B) - (A) - (O) ® (B) - (C) — (A)
@ (C) - (A) - (B) ® (C) — (B) = (A)
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3-2

After you have a body fatness estimate, the question arises: What is the “ideal” amount of

fat for a body to have?

(A) If the answer is “health,” then the ideal depends partly on your lifestyle and stage of life.
For example, competitive endurance athletes need just enough body fat to provide fuel,
insulate the body, and permit normal hormone activity but not so much as to weigh them

down.

(B) An Alaskan fisherman, in contrast, needs a blanket of extra fat to insulate against the cold.

For a woman starting pregnancy, the outcome may be compromised if she begins with too

much or too little body fat.

(C) This prompts another question: Ideal for what? If the answer is “society’s perfect body

shape,” be aware that fashion is fickle, and today’s popular body shapes are not achievable

by most people.
fickle Hol7| #12 "insulate TSIt ESaITH
@ (A) - (C) — (B) @ (B) — (A) = (C) ® (B) — (C) — (A)
@ (C) — (A) — (B) ® (C) — (B) — (A)
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